2000

4.00

1.050 3.20

40T~ T T T T T T T T T T 10 L
. [ ] 8 g
K BRSO i 3.0F -
of e © ] i 1 i 1
= ] [ ] r ]
£ 1.2 ] ' 1
« 5F 1 I 1 1 sf g
= 1 20F ] r 1
o 1 r 1
o} . : ] I ]
i 150 B
i [ ] 4= -
150 ] : ] [ Y.
4 W.Oj 7] L 4
o) E N N B S B R B 0. ] 2 [ T B
0.0 0.2 0.4 0.6 0.8 1.0 0.5 1.0 1.5 2.0 2.5 3.0 5 10 15 20 25
phase ¢y H-K V—K
15.0[= T T T T T |

§

=

o

o

- C

~ |

E L

= -

> E

g 0

o -

° C

a —

o — —
-40 [ L L L L L ]
1.0 ‘ ‘ ‘ ‘ ‘ —

o — -

2 08— -

v = -

L= 3

c 06— —

.9 [ .

8 04— =

S - |

5 02— —

o — —
0.0 ‘ ‘ ‘ ‘ ‘ - ]

0 100 200 300 400 500 600
time [yr]
B e s BRI Y= ‘ ‘ ‘ ‘ o
-88f ?’D g8 2 d0.85 1 4 axionf .
S ‘ ‘ r ]
o e e D ! ] i A Ter 2600 K

— _g8sk o . a . . ] 13 IS

gL L el e : 17 i g gL 4.00 Lg

£ [ Loos ‘ 1 r .

« -sap 1% eln o : 4 axioep b v v oo o b b i 4 Mass 1.50 Mg
Ca2f et ia, % : 1 oo 1 lg(C-0) 8.20

[l oioala: : ] , ]

[ [ CE . ] F B .
ol 4 0BT e B E ] ot . . . . - C/O 1.35
e —— ——— 0 -

n RE’D % P 41.19 i ] E E| Aup 4 km/S
-72F ‘e %o %0 ® E E E

E e a i @ °F i f 2.0
R T 108 ! class n

S —6.8F 9 a 1 = of P

g r Lo oo ] 2 E

= _66fF 1981 2% 0o R E

- s o ag . ] @ 10

[ 29 o o ] E .
-6.4 o = 1 8 k 7 No wind
L g % ] < -20¢ E
-6.2F ' B E 3
—-6.0C L L L L L L L L L L L L L L L | 730:* L L L L 3 Peﬁod 525 d = "437 y’r
S0 T e g ‘“?2 ‘66‘ e T 0.008F ‘ ‘ ‘ ‘ T Radius 504, Ry
F bo& Iy ‘ ]
2sE P o8s B 5o : 3 i ] g9 079
g ° a9 o 1 8 o0l 2 ! 1AM, 0.838
L ' ‘oa'g 1 &V i H
-2z0E el il 1 8 Lo 1

g i :D”n: D”DD:D ‘ ] ; Lok : 1 Colour mean / min / max / range
_ [ cotoogoy 4 .0 [ i |

E-15p § " E- e B 1 (B-v) 247 232" 276 " 0.44

> r oo o 1 3 t m g V—1) 3.01 2.73 3.60 0.87
-1.0F o o 4 ° oo 4 (V-K) 645 591 7.86 1.95

F o 3 g 0002 ] J—H 0.93 0.80 1.16 0.36
—05F ‘ 3 [k i ] JfK) 1.57 1.42 193 0.52

r g ] E i H i . H-K 0.65 0.55 0.79 0.24
0.0f . L . 0.000 : ‘—)—A—j-r/‘—/‘—/‘—(\—-’ &

531 536 573 579 540 550 560 570 580

time [yr]

time [yr]



gas velocity [km/s]

log density [g/cm?]

Toes [K]

Note: Time increases downwards. Scales OK for last curve (bottom black)

B S ot e L B e e e o 120 [T T T T T T T T
8o ! ! . 1001~ ! !
L ' ' i 80— S
: ! ' L
eor- . B - [
F : 4 <
. yal F
L ST e : 4 13 L
C == 1 =
of e 1 2
F = — — E o r
L == = ] ] T 40—
NSt — . >
L “\EE—*Q%! ] « F
L E————— 1 | 8 r
— o
20 = ‘ r
F N === : R 20—
r ANN = = I B r
L N = ‘ 1 i
ok g—/ ' _ L
C =c ‘ ] o
L — i ] L
] R T T T —20l e T S
13.5 13.6 13.7 13.8 13.9 13.5 13.6 13.7 13.8 13.9
log r [em] log r [em]
B : 1 ] 5 1
o~ ! - L !
L X 4 o
r 1 e [
-5 - s I
L 4 = L
L S 4 > -5
L i % L
2
L i 3 F
10— — g [
r ] —10—
-5 B “151- ! !
135 13.6 13.7 13.8 13.9 135 13.6 13.7 13.8 13.9
log r [em] log r [em]
J R S R R R e o o o e B o e R ant
g : : 1 s : 3
o F ] o F - 1
o ] e F — ]
e L B ? 3 -
s F T . B ° ]
c L : ; ] c F — E
22 : — 2k — ‘ E
5 Lk . B 5k — . E
a r . n a = —_— " |
2 r ] 2t — E
5 r : B 5,0 =—— =l : E
c - ' 1 = C ' ]
6 - o |
o L - o C ! |
= ] ; F — 1
: | : E = -
o] == = L R AT IV RTINS RN BT ] S N B
135 13.6 13.7 13.8 13.9 13.5 13.6 13.7 13.8 13.9
log r [em] log r [em]
7000 T T e B0) [T
6000 \3 3 = r 3
\\\\\\\\\\\ o ! e i !
\ AN . 3 — .
<000 \\{\\}‘\\\\‘\:\&\ \\\\ : 3 6000 I |
SR : E :
\\\\\\‘\{‘T‘-Eiif\\ ' E r ]
4000 I S———— = L :
R - E = 4000 |—
3000 \\\\\“\\ ‘\Q\‘E\?:;\\ ‘ E - r
SN ' E L
== E
SRS . 3
2000 N =
! E 2000 — '
1000 I 3 L I
) N B B D I Obo v v v e b e e L L
13.5 13.6 13.7 13.8 13.9 13.5 13.6 13.7 13.8 13.9

log r [em] log r [em]



